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; 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z % — - ~ — —|3mZE#BZ B -~ — — —
Lt 1.00 1 000 ~ 4.75 59.21 | #hS (000 ~ 475|178 9.53 znLs 1.00 | 5.00 ~ 56.00 59.21 | #ns | 5.00 ~ 5.00)1.78 9.563
2 100kN/mMZ#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 1 000 ~ 667 84.15 | #hs | 0oo ~ 000|170 9.08 znLs 1.00 1 6.00 ~ 810 84.15 | =N | 5,00 ~ 810 1.70 9.08
P 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 000 ~ 7.04 89.39 | #hst | 0o0o ~ 704|177 9.48 znLs 1.00 | 6.00 ~ 880 89.39 | #nst | 6.00 ~ 880 |1.77 9.48
4 100kN/M%Z#B % % — -~ = —|3mZEEBZB| — ~ — — — | 100kN/mM%#2Z% — - ~ — —|3mZE#BZ B -~ — — —
ZznLst 1.00 | 000 ~ 758 97.09 | #hs | 0oo ~ 758|212 11.36 znLs 1.00 | 6.00 ~ 10.10 97.09 | £hs | 5.00 ~ 1010|212 11.36
5 100kN/m%Z#BZ5| 1.00 | 000 ~ 046 10682 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1053 ~ 11.80| 106.82 |3m%E#BZ3 -~ — — —
Lt 1.00 | 0.46 ~ 825 100.00 | =04y | 000 ~ 825|220 11.79 znLs 1.00 | 6.00 ~ 1053 100.00 | FhS | 5.00 ~ 11.80 | 2.20 11.79
g 100kN/M%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#Z D -~ — — —
ZnLst 1.00 000 ~ 7.72 99.10 | #hst | 0oo ~ 772|207 11.06 znLs 1.00 | 6.00 ~ 10.70 99.10 | #hS | 5.00 ~ 1070 2.07 11.06
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLsh ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh st ~ Zh s ~ ZhLs ~
100kN/mM%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ ThLlst ~ Zh LS ~ ThEs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ ThEsh ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ ThEsh ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLsh ~
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